
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en 

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 
Complete Spare Parts List of Martin Imager Base 
 
90721000 Base for Imager, multi-voltage (230V,50Hz), grey color 

04020328 2.2 nF 250V Y2 film capacitor 

04020344 220nF, X2, 250V  film capacitor 

04030078 35uF, 250V, 500mm wire 

04400413 Noise sup choke, H 2x0.5mH, 4.5 

04520006 Step-up 250VA, 24v/10.5v/11v 

04540010 Ballast, 250W, 210/60Hz, 225/60Hz, 225/50Hz 

05020020 Fuse 6.3 AT 

05031001 Fuse holder chassis  6.3mm plugs , nut 

05040015 100` Thermostat  Open 

05120603  

05120604  

05120605  

05144112 Header angle 2 pole  5.0mm  molex PCB 

05144116 Header angle 6 pole  5.0mm  molex PCB 

05149002 Spade plug 6.3mm male , angle PCB 

05328405 Cable plug, 6.3 mm female, single, faston, insolated 

05503402 Switch 2pol PCB straight, 

05503403 Switch 5pol PCB straight, 

08050700 M3x6 taptite, Torx, ph, black 

08050701 M3x8 taptite, Torx, ph, black 

08050702 M3x6 screw, Torx, ph, black 

08052701 M3 hex lock nut 

08053807 M3x10 stand off, m/f, black 

08070416 M4x70 screw, Phillips, ph, black 

08070701 M4x10 taptite, Torx, ph, black, Paint cut 

08070702 M4x6 taptite, Torx, ph, black, spec 

08071208 M4x10 screw, Allen, low, stainless 

08072701 M4 hex lock nut, PA-insert 

08073601 M4 blind rivet nut, cs 

08074401 M4 lock washer, black 



11850018 Wireset, high-volt, base, Imager 

13101002 Cabel clamp, 3mm plade 

23003940 Plate, voltage PCB, Alien O2 

23004440 Chassis, base, Imager 

23004450 Side, terminal, base, Imager 

23004460 Side w. louvre, base, Imager 

23004470 Side, J-box, base, Imager 

23004480 Cover, base, Imager 

23004490 Cover, J-box, base, Imager 

23808580 Holder f. capacitor, base, Imager 

23808590 Holder f. trafo, base, Imager 

23808770 Pl. f. WAGO Connectors, Base 

32020500 Rubber foot 3.6x12.7mm Black 

33140062 Base installation, Imager 

33160023 Label, base wire terminal text, Imager 

33160024 Label, wire terminals ID, base, Imager 

33170049 Label, cardboard, Imager 

34000095 Cardboard box, 457x310x168 

34155005 Foam profile, 455x310x10/20 

34200078 Styropor plate, 455x140x30mm 

34206001 Styropor Corner, Large 

34240001 Plast bag, 90x180 

34240005 PLAST BAG  500x500 

35000128 User manual, Imager Base 

35060128 User manual, German, Imager Base 

37021001 Locktite 243 250 ml. 

62005006 PCB Voltage/Feq. select, Asmb 

62223028 Cap. 35uF, 110mm w.6.3mm pl/ho 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en 

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

 


